NS — [ )
woz — — k1 E/] Fﬁ =-|- Y
B anm 7 —F hILN— MEARFRAZEEX
hR e
v7] S=1:2,000 (A1)
BT _ ElZ E S=1:4, 000 (A3)
08
RN : - BT . o »
‘ —~ — - == AU TF Lo SRR £ 80
e ' : . \ g mmey ~
! - T 3 L I 5 1 t AT S e (). ’
) = ) T, B Tial = 1LY T Tt s AT AR (Wi NG (%) &,
Pantl XL Ve 7 1D 5 T ! e Ty W ) 11 TV R \z “46 L
(e [ & 1:27% [ta15 /u‘ %);;E\ﬁ*‘)\ : — ; ) 1) fu(vk) / Wi YN hr9) A Wi 1500 Wi
) o i BT NG \55 s, / ¢ 300EIRES TIL ‘
N wWow g 8 e = PR oot S - (FI7KIEO. 05Mpa)
° §z X € z X LAY y Foeo N FEEH
= L G N 5o 26 78] —
& F—FAINsS— FEIET 1500 x 1800 &l LAy —55 NS
[=253. 2m AR S HIC—7 3 ‘ P
> SR — =0 @ C0OBIRE S T )L
e, 2511,/‘“\ e F y o - . = P (PIKEO. 05Mpa)
7l A 10 7 ] i E] 8
['7T°IJ FL [:]67 P ) ~ T 8600 £ 1 a5 1:2.\§ -
* - 6 5 Ll B - S 2 L = S
Logdngy,, " T xg,, I (e R TR e E
g 300, Ly i L AUV L3 752 EEH
425500( iz, s, e % \ ELH7UA—
Pz, -0054,06 ) by % - D16-750L
2L e r] HE1:2,000 (A1) V=1:400 (A1) 08ty L3535, ) R o Zyo | 7 E LEIRE0
HE B H=1:4. 000 (A3)  V=1:800 (A3) Y Lo T=F AN~ NEART 1500x1500(1) | 1500w 1500 (0 Bz 2 — | 5| 2EBE
" L=89.4m =46 0n ELB7UN— § \
’ D13-450L
7% L R0 |
2EIEE 300 700 500
A@ayy—t 1500+#1 x 2
Bz STk
\\Zfﬁ\'\'j;;;k (21-12-40) 100 100
300 oo 2Ht
gt ox 80\‘
.00 j_/ A }
-] BEER 7 —F HILAN— hTiER
| E4 R H1 H2 H3 Wi
— ( EEA ) ( XEB ) ( BEEC ) — 1500 x 1500~ I 1500 180 260 180
— 1500 x 1500- I 1500 200 290 200
B HESAR \ 0n—
o | T 1500 x 1650 1650 180 260 180
— 1500 x 1800 1800 180 260 180
: 67.00
| ( HEM+ )
— nan
ww | ( HMAER )
] |AKRYIFLUH TILE ¢300 (FIKEO. 05Mpa)  L=556. 5m
] B|IKRYIF LA TILE ¢ 600 (KHKEOQ. 05Mpa)  L=555. Tm
g B T7—FhIA— bHAET
| F—F A/ — rEAZET 1500 x 1800 L=2.|00m F—FHI)I/S—FEAET 1500 x 1650 F—FHI)/A—+BAET 1500%150 (1) 1500 x 1500 (1)
| L=253. 2m L=164. 6m L=89. 4m L=46. Om
DL=50. 00 1
g u s\ i0.8% é s} 10.4% é Q
T T T T T T T T T T T T T I I T T T T T T T T I T I T T T T
& W 8 ] 8 =] 3 g 8 8 2 z g 8 882 g g g g 8 2 ] 588 g B g g § 8 8 g
E ] ] ] ] £ ] ] E ] F = -] ] €8 s € € - € € € gES -] s = = s = s -]
R
T T T T T T T T T T T T T ITT T T T T T T T T T T T T T T T
H E] = e 2 & =~ = B [ < 28 ] Y 38 b1 = b 2 8 3 R K\= b3 2 2 =2 = 8 3 3
. ¥ - N ¥ . $ ¢ ¢ ¢ ¢ ¢ - SN N = X F ¥ ¥ 7 s 5 7 7 E A ¥ ¥
5
[ [ [ [ [ [ [ [TT [ [ [ [ [ [ [ 1T [ [ [ [ [T
i e 8 8 g 8 2 8 S 2 g g 2 ] ] g8% g g 2 8 2 g g 288 8 g S B § B 8 8
P 5 & & & & g g b g € & & g ErR= g g g g & g = ggg & g € £ & =# g g
& ®
[ [TT 1T [T
® 2 b g by = g 2 : b : s : = 2EZ 2 o - 2 g 2 g B B g 2 = = = g g
“ g g z B g 3 z g b g g £ g E&z g g g = g = = FRs = s N & 2 Z = =
BR
T T T T T T T T T T T T T ITT T T T T T T T 1T T T T T T T T [T
8 g g g g g g g g g g g & g =38 g g g g g g g gge 8 g g g % 8 g g
g < 8 € 8 8 g 8 g g E g 8 g BERE g g § g g 8 g sgd K g g g ® 8 g B
"’ (D7 )= THEER
[ [ [ [ [ [ [ [ [ [ [ [ [ [TT I [ [ [ [ [ [ 1T [ I [ [ [ [ [ [T
® g g g g g g g g g g g g g EEB 8 8 8 8 8 g g 888 g 8 g g & 3 8 £ = =
g s & = & & s = = = § e = = = = = s se- = = § = = = RIKHE KRR S E T
: [ [TT I I [ 1T [ [T 7_9:jj)l/,(_ FlrEaE{]Fﬁgg-l-@ .
(F—FhIL— FEEFE - HEMR)
L - - ~ - <~ w - ~ - - e = o ] = [ e = = = | = ] ] B3 8 = 5
= £ £ g g g g g g g g ] ] ] ] ] ] ] ] F ] E g g g g g ] ] w R = HEEZ| 71/83




